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Note : (i) Answer any five of the following questions.
(ii) Q. No. 1 is Compulsory.
(iii) All questions carry equal marks.
1 (a) Trace out the philosophical perspectives of educational evaluation. 7+7=14
Eﬁégséé ﬁ@e@RﬁSCS 3%@1@ 5303&%\@6353{1 BHRT 38‘9\.
(b) Explain the role of assessment in learning.
3OE0DYT @67%05365 mgwa‘n& QDWOA.
2 (a) Differentiate Criterion referenced test and Norm referenced test. 7+7=14
TRIBOR WD TOEE B WRTO WgedT TOLFOD, TTL3A.
(b) Discuss the goal attainment model in detail.
OO BB [PWOORNT), DFToN BWF R
3 (a) Analyze the relationship between educational objectives, learning experiences
and evaluation. 7+7=14
E%gséﬁ emcéezﬁmﬂo, O OVLBNWD =0 a@@smmcs IO ﬁo&)oqﬁwm&\ DJeXA.
(b) Interpret the process of constructing achievement test.
TOFTO TOCFOD TWI0H TFOHOD WPF DJTH JeR.
4 (a) Compile the qualities of a good measuring instrument. 7+7=14
N VYZOD YOTFTLT MONTRY, FOFOTRRPA.
(b) How can you do item analysis and write the process of standardization.
TFo03 &é@e‘fﬁ%o&&% Tery TN D) TeSo0e3e3TERT @0330333301 0TBOW0.
5. (a) Critically analyze the credit system with semester system. 7+7=14
30 THFohI, FNFTT BHHCIR0ON LTI FTION DFEXA.
(b) Discuss the national reviews of researches in educational evaluation.

FBEIT BPOFRTIITYS 040D FOARTTR OTSREFTTI, A,
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6. (a)
(b)
7. (a)
(b)
8. (a)
(b)

Evaluate Kirkpatrick model with illustrations.
DVTHRARODN $T°F LT BITOODT, SPOFOR.
Discuss the steps for construction of intelligence tests.

&)o@pejioja wéeiﬁ%f 330D %oérﬁ@é?\b% 23R,

Trace out the meaning and importance of standardized test.

TR TOCFOD WFF TNBY WBIT/I), BRT B,
Explain the significance of online examination.

ST S TOCFON TNDZONT, DTOR.

Diagnostic evaluation
ST0R8 BRPOTPTT
Importance of Z-Scores
OP-wosNnY 535%
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